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a function of pressure in Fig. 3 for the measurement whose Tc resu lts arc: plotted 
in Fi g . 2. He clearly 5'-', ' thp.. irreversible increase in the residua l resistance 
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Fig. 3. Variation--orresidual resistance w1th pressure for the specimen 

shown in Fig. 2. 

when pressure is first applied to the specimen annealed at rOOlol t emperature . 
The reversible variation of resistance with pressure is very slight . It 
should be stressed that annealing at room temperatur~ causes the additional 
irreversible resistance to vanish for the most part. 

In order to check whether the observed variation of the transition tem­
perature with pressure is affected in any way by the lattice de fects that are 
responsible for the high residual resistance of unannealed specime ns, we also 
utilized specimens that had been brought up to residual resista.nce ratios of 
about 1.5-10-3 by annealing in ultrahigh vacuum. 

The r .:. s ults of such a test are shown in Fig. 4. In this case, the shaped 
cell was chilled, and then a pressure of 25'103 kg/cm2 was appl i ed in one step 
(solid dot). The load was then removed, and pressure ,vas reapplied, yield:'ng 
Curve 1. In these specimens as well Tc is raised irreversibly by the i nitial 
deformation after chilling. This rise can be eliminated compl e tely by re-anneal­
ing at room temperature. After this specimen had stood at room temperature for 
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Fig. 4. Variation with pressure of the transitio~ temperature of an 
Nb specimen whose residual resistance ratio was small. 
Rn/R273 = 1.5'10-3• 
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